Name
Introduction To Psychology
Mrs. Andrews

Operant & Classical Review
*Look over classical conditioning diagrams and examples & Operant conditioning (S, SB, C, R)

1. Please describe CC’s response acquisition — (page 160 might be helpful).
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2. Explam ...learning eventually reaches a point of diminishing returns” (Dage 160 might be helpful).
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3. What is intermittent pairing? What does this do to Iearmng’? - b
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4. Classmal conditioning is selecnve
Please explain the statement above... (page 162 in the book may be helpful)
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5. What does food aversion have to do with this?
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6. Reinforcement vs, Punishment - What is the difference between the two?... @age 164 may be helpful)
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7. Describe a situation when you would use one over another.
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8. What conditions have to be met in order for punishment to be effective?
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9. What are drawbacks to using punishment?... (pages 167-168 may be helpful)

- DO@ 0o facn Cign bawio” / dees not fach desieabe

Olk &:} Noudior™ kﬁYUJ\J\TJr
L mm%@mm omofiony My mede) @%ﬁb
10 Operant conditioning is selective” b@}m

Please explain the statement above... (pages 164-165 might be helpful)
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11. Why is “response acquisition in operant conditioning somewhat more difficult than in classical
conditioning?”
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12. What is a skinner box and what role does it have in response acquisition? What is shaping- how can this:
technique speed up response acquisition?
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13. Explain why superstitious behavior may develop as a result from reinforcement? ... pages 166-167 may
be helpful)
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14. Explain the statement “Psychologists believe that offering certain kinds of reinforcers for a task could be
intrinsically rewarding... can undermine the intrinsic motivation to perform it.” — (page 67 may be

helpfil). \
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15. Explain extinction and spontaneous recovery
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16. Define stimulus generalization and stimulus discrimination.
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19. Below are everyday situations in which some form of operant behavior is occurring. After reading each
scenario, indicate whether it is an instance of generalization or discrimination.
a. We stop our vehicles when the traffic light is red, but continue through the light when it 18 grven.
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b. We sit quie y in our seats during class examinations, church services, theatrical presentations,
and funerals.
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c. We raise our hands before speaking in class but not while talking to a friend or while at a party.
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d. Weputour feet up on our desk and coffee table at home, but not on our grandparents’ coffee

table.
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e. We mistake a stranger for a friend of ours.
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f.  We answer the doorbell hen it was really the phone that was ringing.
Goresolization

18. What factors nnpgact eXtmnghing an operantly conditioned behavior? w
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19. What is higher order condltlonmg and why is it difficult to achleve‘? ,
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20. What are prlmary and secondary reinforcers- provzde exzimpies of each i %{f @a’ &l jer 15 v y”kﬂ@ﬁ*‘f"‘&
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